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QUESTION 1

Which of the following statements regarding the description of MPLS are correct?
A. Egress LER forwards packets based on IP routing table.

B. Core LSR forwards packets based on label.

C. Ingress LER forwards packets based on label.

D. Core LSR forwards packets based on IP routing table.

Correct Answer: AB

QUESTION 2

Which of the following functions could be achieved by the LCP of PPP?
A. To establish, maintain and terminate the point-to-point connection

B. IPX address negotiation

C. IP address negotiation

D. To maintain multiple physical links

Correct Answer: A

QUESTION 3

The PPPoOE Session Stage is a complete PPP procedure.
A. True

B. False

Correct Answer: A

QUESTION 4

Which of the following statements regarding multicast MAC address is correct?
A. The first six hexadecimal value of the multicast Mac address is 0x01005e.
B. Multicast MAC address is composed of 23 bits.

C. The range of multicast MAC address is assigned by IEEE.

D. On Ethernet, 28-bits of layer 3 multicast IP address are mapped into the 24-bits of the layer 2 multicast MAC
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address.

Correct Answer: B

QUESTION 5

Interface-based ACLs define rules based on inbound interfaces of packets to filter packets. Run the "traffic-filter
command to invoke the ACL.

A. True
B. False

Correct Answer: A

H31-124 V2.0 PDF Dumps H31-124 V2.0 Practice Test H31-124 V2.0 Braindumps

H31-124_V2.0 PDF Dumps | H31-124_V2.0 Practice Test | H31-124 V2.0 Braindumps 3/3


https://www.geekcert.com/h31-124_v2-0.html
https://www.geekcert.com/h31-124_v2-0.html
https://www.geekcert.com/h31-124_v2-0.html
http://www.tcpdf.org
https://www.geekcert.com/h31-124_v2-0.html
https://www.geekcert.com/h31-124_v2-0.html
https://www.geekcert.com/h31-124_v2-0.html

